
2-AIN-108 Výpočtová logika: Prvorádová logika

Gentleman punishes or kills everyone who insults a lady.

(∀z)(lady(z) → (∀y)(insult(y, z) →
(∃x)(gentleman(x) ∧ (punish(x, y) ∨ kill(x, y)))))

Whoever insults a lady, is rude.

(∀z)(lady(z) → (∀y)(insult(y, z) → rude(y)))

Gentleman kills only enemies who attack him.

(∀x)(gentleman(x) → (∀y)(kill(x, y) →
(enemy(y, x) ∧ attack(y, x))))

Gentleman kills all enemies who attack him.

(∀x)(gentleman(x) → (∀y)((enemy(y, x) ∧ attack(y, x)) →
kill(x, y)))

Rude people are gentleman’s enemies.

(∀x)(gentleman(x) → (∀y)(rude(y) → enemy(y, x)))

Peggy Sue is a lady.
lady(PeggySue)

Billy Boy insulted Peggy Sue.

insult(BillyBoy ,PeggySue)

Jackie is a gentleman.

gentleman(Jackie)

Billy Boy attacked Jackie.

attack(BillyBoy , Jackie)

1 Odvodzovanie
1. Dokážte v Hilbertovom kalkule

{p, (p→ q), (q → r)} ` (¬s→ r)

2. Uvažujme teóriu T z úvodu cvičenia. Pomocou rezolvencie zistite, či T |= φ
ak

(a) φ = kill(Jackie,BillyBoy)

(b) φ = punish(Jackie,BillyBoy)
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